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cos60 =  =  = 
TS = 

RS =  =




https://www.symbolab.com/solver/step-by-step/simplify%20%5Csqrt%7Bk%5Cleft(%5Cleft(k%2B%5Cleft(%5Cfrac%7B2sinx%7D%7B%5Csqrt%7B3%7Dcosx%2Bsinx%7D%5Cright)%5E%7B2%7D-%5Cfrac%7Bsinx%7D%7B%5Csqrt%7B3%7Dcosx%2Bsinx%7D%5Cright)-k%2B%5Cleft(%5Cfrac%7B%5Cfrac%7Bsinx%7D%7B%5Csqrt%7B3%7Dcosx%2Bsinx%7D%5Cleft(4sinx-1%5Cright)%7D%7B4%7D%5Cright)%5Cright)%7D
Where x = :
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In the diagram below, RS is the height of a vertical tower. T and Q are two points in the same
horizontal plane as the foot S of the tower. From point T the angle of elevation to the top of the

tower is 60°. RTQ =4, RQT =60° and TQ = k metres.

10.1 Express TR in terms of 6 and k. (3)
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